A EZ2AIE 22|

H & 0l & AHS B Ml A

M C2NSY PE(WSLSR/E2)

el &2 HH| & 22| (CHol: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
S2Ad2e| 14,260,353 17,005,413 A2,745,060
= 40,000
T 20,000
Al 14,200,353
CERNESY AF(USLER/EZR) 14,022,948 16,785,133 AN2,762,185
= 40,000
= 20,000
Al 13,962,948
CZo JHl & 2t 5,731,709 6,695,058 A963,349
T2 FHl ¥ A 2l 1,381,664 2,238,998 A857,334
101 @124 d| 169,262 28,662 140,600
M IIRHNZ2Z2 RS2+ 169,262 28,662 140,600
O=2&zY EHI| & 98,966
ool 167, 43521 x4 22 2462 98,966
OEZANE=E B - 2l 70,29
sol=gl 76,9602 5324 x2221 582 40,63
oFgg 76,9603 *3H *4 = +83 7,389
oMEZa BEY
6,080 x3Z x26 2«83 3,794
SYNEIISE= R 16,378,000 & * 14! 16,378
o=l 150,000& 7 E*23| 2,100
201 L2 AH| 332,012 324,466 7,546
01 AtR2elt] 96,132 100,176 A4,044
Oget=2| 32,692
o= - RN S5 13,000
-8 800,000& =103l 8,000
-z 500,000& =102 5,000
o4& F KIGHE &I|erdae| 89
166,000& x 123 1,992
oME XotiE ¥ Y Kot H+E &
I 2 AES(ED], JIH) eg2el 29
1,375,000 =123 16,500
oM =S| clh|
600,000& *2CH*13 1,200
Oo2g=¢ 3,600
oL ZHZAMIRRAG HA +H(FRHA)
100,000 x6 B 63 3,600
O=&tl 2,640
oL 2 THOHOHE HI&AZ2SR SAH|
8,000& x22H 152 2,640
ogxtz 57,200
ocHAE 2Xt 200,000& 103 2,000
o2 2887 Y =+ 4l S ZHIYX 55,200
—=4AD)| 550,000 6«83 26,400




2A:

CE2AlL 2|t

¥ C2NsSY PH(LSHER/E2)
ol E22 dHl € 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-8 = 600,000 x6 2«83 28,800
2 s5=34l 235,880 224,290 11,590
O332= € HAl 101,040
oM AMEY MASUs
20,0002~ 12& 240
oFwsI|, KotitT i8I, WE
=) 8 &I & &M=
8,000,000& «12& 96,000
o0& 38d S dJIe=
200,000 #2J4 2+ 123 4,800
OAIE2&HI= X 134,840
oSt AIEE RAl2el
2,000,000 * 104 2 2,000
o=WEAI| [
350,000 *12CH*12& 50,400
ocHEAYES A4 FX2
1,000,000« 128 12,000
oFAAE W ot HAACAEGES
15,000,000 *3IH 2 45,000
oSAANE W &4 FA2c
7,000,000 *37H 2= 21,000
ozHAH SX2HI(HFD], JIHS, &
| 8) 4,440
—==4H| 100,000 * 12CH 1,200
-RRU(HER)
1,80024%150 £ *12CH 3,240
202 04t 790 1,270 A480
01 =LHOHI 790 1,270 A480
O3 - BRML BF SY(THXY) S
30,0002 x2&*13|+53 300
OMel= MgH =
20,0003 x2& 22 x42] 320
OHtE £5J| +=cl
85,0003 x2Z*12+13] 170
206 MH=H| 114,600 119,600 /5,000
01 M=4l 114,600 119,600 25,000
OE2RANESE MM 2 114,600
o =5t (25kg) 12,0002 %4000 48,000
o ZIEZHI& TH (25kg) 15,0002 *1,000% 15,000
=82 of 22,0002 +1,000m* 22,000
o2t 200,0002*30H 6,000
oHTEE 25,000 »200m* 5,000
oANEH(SZ ABE 25kg)
36,0002 100K 3,600
o2 UM ¥ =2 FHIE T
15,000,000 * 14 15,000
305 Hie =S 10,000 10,000 0




2A:

CE2AlL 2|t

M C2NEY PEH(WEYSR/ER)
el =22 1 & 2e EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
01 BIAZ2S 10,000 10,000 0
OS24 DEAD EoHHHAS
1,000,0002 %1024 10,000
401 Al HIZL 2L 755,000 1,755,000 1,000,000
01 Al&H] 748,106 1,740,816 A9R,710
O3t DHAIDHE T2 SEBAHZCIEO)
40,000,000+38.92/ 100 39,568
O3 20I0t8 &2 SESAH(FUEN)
50,000,000+98.92/100 49,460
O/tar 00I0FE TIYT2 EFHIAHFL
&0) 160,000,000%09. 28/ 158,848
OMAe HEDE 27 T2 SEE SAHE
OIEO) 120,000,000%99.28/100 119,136
OERs 148 01222 IEIA(F2UEN)
30,000,000+98.92/100 29,676
OXYESE N XY2 FHHIBAHFLIEN)
20,000,000+98.92/100 19,784
OZ P52 HSHH T2 FHISA
30,000,000+38.92/100 29,676
OS2A 2(SLBE FH) £2 HHISA
15,000,000+98.92/ 100 14,838
OURSIIE 0IHEZ FHIBAHTLIEN)
10,000,000+98.92/100 9,82
OctoIOE XYETZ I TAHFLUR0)
25,000,000+38.92/100 24,730
O2SFRL FIH 0120 THTAH(FY
Z0d) 10,000,000+98.92/ 100 9,8%
O=s P12 EF ZTEFIA
35,000,000+98.92/100 34,622
OWANES SY5CHA OHIIE & =2 HHISAH
(FQE0) 20,000,000+98.92/100 19,784
O245 0222 T2 ¥ HWEEBAHE
DIEN) 10,000,000+98.92/100 9,8%
OXf+¥x YJ(H4+HX~A0IZ OHIIE 7
2HEZ THES SAHFLIEO0)
30,000,000+98.92/100 29,676
OWANS 12 38 LA T2 ZHTA
10,000,00024%98.92/100 9,8%
OBEH | HZIRSH T2 FHIBA
80,000,000 %99. 10/100 79,280
O0=28 7 &2 dE HESA
60,000,000 *99. 10/100 59,460
NP=E 6,894 14, 184 AT,290
O3 DIA0IE T2 SATA
40,000,00024%1.08/100 432
Ozt 20102 =2 =ESA
50,000,000 *1.08/100 540
OAHAHE 0lDIDIS TYE2 EEHBA
160,000,00024%0.72/100 1,152




A SRALoe|
3 CRuSY IF(USYER/E2)

Ol E2e SH ¥ 2 (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMMH HEDS 27 T2 HEE ZA
120,000,000& *0.72/100 864
OZERE UE 01202 TR
30,000,000 +1.08/100 324
Orlgxz=sstn JU2 EHISA
20,000,000&+1.08/100 216
OZF5d HEEHE =2 FHISA
30,000,000 +1.08/100 324
OSLAM3L(SL3H =H) S2FH| SAt
15,000,000& *1.08/100 162
OUS13E 0IHE=Z HHISA
10,000,000& *1.08/100 108
OctoIOHIE MNEZ EHEBA
25,000,000& *1.08/100 270
OREZSA SIB 012U THZA
10,000,000& *1.08/100 108
O=s B =2 ZISA
35,000,000 *1.08/100 378
OWANS FE5EA OHE ¢ =2 HHISA
20,000,000& *1.08/100 216
O2+s (222 S2FHl & HEESA
10,000,000& *1.08/100 108
Oxtedx L3 (H+=ZX~20tF OHIHE 2
2 &2 HWIZZE SAH
30,000,000 %1.08/100 324
OWAS 12 B L& =2 LISA
10,000,000 *1.08/100 108
OS&H il BiRsd =2 FHISA
80,000,000& *0.90/100 720
O3 &+ &2 dd HESA
60,000,000& *0.90/100 540
JIEEZ 3Hl & |AZH2IAIS 800,000 800,000 0
401 AlZHIZL SO 800,000 800,000
01 Al&HI 794,960 794,960
O==Z 3Hl &€ FA 2AL
800,000,0008 * 99.37/100 794,960
03 AIZSTHYI 5,040 5,040 0
OEZ il & =Xl 2c|Ar
800,000,000& * 0.63/100 5,040
U= =JHMEEX W &2 =S 500,000 400,000 100,000
401 AIZHIYL S HE 500,000 400,000 100,000
01 Al&H| 496,400 397,120 99,280
OO =JhEEX W &2 HEE
500,000,0002%99.28/100 496,400
03 AIZ 2 THYI 3,600 2,880 720
OOz =JREEA W &2 MEE
500,000,000& *0.72/100 3,600

JIEEZE PN L =X 22AH 857,000 720,000 137,000
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T ZH -
(=

=aak

CEAIA 2|
CRUSY FR(USHEF/E2)
T2 FH ¥ 22

RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
401 Al HIZL 2018 857,000 720,000 137,000
01 A=l 849,185 713,340 135,845
O=ts X0t ME1ed &2 =2 &
HIZAH(ZERIZ0)
30,000,000 +98.92/100 29,676
Ositg Al MThHsd 2 2 &
HISAHZERIEO!)
30,000,000 *98.92/100 29,676
OActd &2l A28 iIHE ZAK
=0IEO) 20,000,000 *98.92/100 19,784
O2&Y SUiS &7 &2 FHISAH(=L
&0d) 10,000,000 *98.92/100 9,892
Os&H EHENS =22 EXISA
10,000,000 +98.92/100 9,892
O3t MRS AIE0SH =2t WHS
AH(=QIEO) 20,000,000 *98.92/100 19,784
O3stetH OIS of=2t HEEIH (IO
gl) AXSAH(FUEN)
10,000,000 *98.92/100 9,892
O3t WE(HURS)E2 =2 €33
At 25,000,000 *98.92/100 24,730
Oztgd g Haits 2l2sd At &
HIZSAHZFRIE0)
20,000,000 *98.92/100 19,784
Ottt =& 2238 d =2 FHISAK
=0IEO) 80,000,000 %99. 10/100 79,280
Ofteds 78 Hi=AlE EXISAHFLUEA)
10,000,000 %98.92/100 9,892
Oz L@ HE A o L2h FHHIZAK
=RIEN) 120,000,000 %99.28/100 119,136
O== ZE0lLE &+ &2 Y =2 &
HIZ At 12,000,000 *98.92/100 11,871
OllE=3 42 B& iy EXISAH(F
BIEO) 20,000,000 *98.92/100 19,784
O5% 2577548 =2 FHISAH(=UEN
) 40,000,000 98.92/100 39,568
OSES 1709 Jt=eiY EXISAHFEEN)
40,000,000 *98.92/100 39,568
Osds 2E2dA Y2 A ZHIEM
80,000,000 *99. 10/100 79,280
Ogdtxi 2 HIZEH HUISA
160,000,000& *99.28/100 158,848
OStts =Z W3 & Bi==2 ZHISA
40,000,000 *98.92/100 39,568
Ozt Z==0t= A== Wt EX3
Ab 80,000,000 *99. 10/100 79,280
03 Al2 = THHI 7,815 6,660 1,155
Ostts LE0E ME1sd &2 2 &
BIS AL 30,000,000&*1.08/100 324
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CE2AlL 2|t

¥ C2NsSY PH(LSHER/E2)
ol E22 dHl € 2el (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osuts A0S MEisd &2 =2 &
BIS AL 30,000,000 +1.08/100 324
OactH 312l Alz12ad di==Iid SA
20,000,000 +1.08/100 216
O=&H U= &7 &2 ZHISA
10,000,000& *1.08/100 108
OE&H EHADIS =22 EXISA
10,000,000 *1.08/100 108
O3t RS AIE0SHE =2 DHS
At 20,000,000 *1.08/100 216
O3ty OHILOtS of=2t HEEIH(e0l
g) EXI3A 10,000,000 *1.08/100 108
O3t BE(HUR2)=2 =2 2X3
At 25,000,000& *1.08/100 270
Ostdd g o= 22 e At 3
BIZS At 20,000,000 *1.08/100 216
OattH =& 2IE203ad =2 EHHISA
80,000,000& *0.90/100 720
OetelsS 78 Hi=AlE EXISAt
10,000,000 *1.08/100 108
OBtE Yo o TA 9 Lk BHIZA
120,000,000 +0.72/100 864
O=S Z=0HIE 27 =2 Y =2 &
HISAH(1.08%) 129,000& x14] 129
OllE==3 9@ 25 e EXI3AM
20,000,000& +1.08/100 216
O28 =Z77ad =2 FHISA
40,000,000& +1.08/100 432
OFES 1709 il EXI3At
40,000,000& *1.08/100 432
OSds =E2diA Y2 A HHISA
80,000,000& *0.90/100 720
Ogttz=w & HIEH FHHISA
160,000,000& *0.72/100 1,182
O=tg SZ w3l ¢ +2 JUISA
40,000,000& *1.08/100 432
Oxtgd d==0l= a2 et EX8
At 80,000,000& *0.90/100 720
A2l S JIEEZE D2 € RA2el 500,000 500,000
401 AIZHIX 20HH 500,000 500,000
01 AlZ2H| 496,400 496,400
OAl - 2& S JIEER FRME & X2
cl 500,000,000&*99.28/100 496,400
03 Al 20HHI 3,600 3,600 0
OAl - 2& S JIEEZ F2ME & 72
el 500,000,000& *0.72/100 3,600
A2 & &2 238 350,000 350,000
401 Al HIY S CHYI 350,000 350,000




SM: CRAIERRIY
Ha: C2NEY PEH(DSUYSH/E2)

Ol E2e SH ¥ 2 (cie) 29
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
01 Al&HI 347,300 347,300 0
OSHNY T2 stAEY|
250,000,0002%99.28/100 248,200
OAUIZE T2 s2=Y)
100,000,000 %x99.1/100 99,100
03 AlE20HHI 2,700 2,700 0
OSHNY =29 SAHH|
250,000,000 %0.72/100 1,800
OAlLY ) =29 stAEY|
100,000, 000 *0.9/100 900
AMUHEZ IR 2| HHISAH 200,000 200,000
401 AIEHIZL20HH| 200,000 200,000
01 Al&H| 198,560 198,560
OAUE=Z DI X2l &l
200,000,0002*99.28/100 198,560
03 Al 2 0HHI 1,440 1,440 0
OAMUWEZ 1A Xl Hd|
200,000,000 %0.72/100 1,440
ALY R 2% EH|Z2AF 950,000 1,295,000 345,000
401 AIEHILE0HY] 950,000 1,295,000 345,000
01 Al&H| 941,108 1,283, 147 A342,039
Os&H s&Z g7 2T AXISAL
20,

,00024%98.92/100 19,784

§gg g
o3
o2

O=2= 8,958 el EHISA
60,000,000 *99. 10/100 59,460
OKNZs S22 LA(SL24~-82L2R) 2
& ZHIBAHFUEN)

40,000,000&+98. 92/100 39,568

40,000,000 *98.92/100 39,568
Otins daEz B8N £2 HUISAHFL
&0d) 40,000,000 98.92/100 39,568
O=s #=xS8W ¥ 03 HUISAHFL
F0) 10,000,000 *98.92/100 9,892
O=8 HEHIZ(HEEI~-3HEE) B
E5 FUISA(FRIEH)
20,000,000 *98.92/100 19,784
O=s 193569 A Z B =25 AXISA
10,000, 0002 *98.92/100 9,892

OWAMS ZdE2xt OHIE~LEHFH3HA 2
E5 ZHISAHFEO)

40,000,000 %98.92/100 39,568
O0AS 296Xt OHIIE & 1T HHIZAH
FOIEN) 40,000,0002%98.92/100 39,568
OEGAIE| HABRE FH 222 9
AEA E2 HHI(F2E0)

30,000,000 *98.92/100 29,676




2A:

E M

CEAIA 2|
CRUSY FR(USHEF/E2)

ol E22 dHl € 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAass F23S OHIE =Y & FHIZ
AHZFRIFO) 60,000,000& *99.10/100 59,460
ONds etz &2 ZHA & B==5 &
HISAHZF2IZ0)
120,000,000 99.28/100 119,136
ONEE fUEA2 EEEE FHISAHF
BIEO) 40,000, 0002 *98.92/100 39,568
Otfus 105 28k SHZ FBISA
30,000,000 *98.92/100 29,676
OstefH A=z 2l ZHISA
200,000,000&%99.28/100 198,560
OWAKEAL =H I HHISA
50,000,000& +98.92/100 49,460
ONds TEx=Sst =8 2T JHISA
50,000,000 *98.92/100 49,460
O=tts 2F8XANF 225 FUISA
50,000,000& *98.92/100 49,460
03 Al 20HHI 8,892 11,853 2,961
O=&Y sd2 2+ 2k 2XSA
20,000,000& *1.08/100 216
OSY= 8,98 A JHISA
60,000,000& *0.90/100 540
OKNZs STZ L (SY24~-SLEB) 2
T HHISA 40,000,000& *1.08/100 432
OMZE SL2(S822Z 55822 B-1)EE
ZHISAH 40,000,000& *1.08/100 432
Olins dE2 B8t =2 ZHISA
40,000,000& *1.08/100 432
O=S 7SxSst & U2 ZHISA
10,000,000& *1.08/100 108
O=8 HEgHIZ(HdEHI~-3HEE) B
=5 ZUISA 20,000,000& *1.08/100 216
O=S 193569 &tz B2 EXISAt
10,000,000 *1.08/100 108
OWAMS dE2Xt OHIE~QEFH3HA B
E5 ZHISA 40,000,000& +1.08/100 432
OWANS SE6Xt OHIIE & 1S HHIZA
40,000,000& *1.08/100 432
OSEAEl WANEY =¥ 222 2
&N =2 FH| 30,000,000 +1.08/100 324
2SS F232 OHIE =Y 2k FHIB
At 60,000,000& *0.90/100 540
O0ds stz &2 BAA & B8 &
BIS AL 120,000,000& *0.72/100 864
Olds RHSAZ BEE2E FHISA
40,000,000& *1.08/100 432
Olus 105 28A SZ HHISAH
30,000,000 *1.08/100 324




2A:

CE2AlL 2|t

M CR2NSY I (NSLSR/E2)
el =22 1 & 2e EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSt2H NSNS H S;HZ HE|IS A
200,000,000&*0.72/100 1,440
OWMNEA =3 2I& HHISAt
50,000,000 *1.08/100 540
ONEES TSt FH 2T FHIZA
50,000,000 *1.08/100 540
Osttg 2FEAXF EE=E HUISA
50,000,000 *1.08/100 540
ANMULER SEEH & KAI2CIALY 100,000 100,000
401 A& B 20HY| 100,000 100,000
01 Al&HI 99,100 99,100
OAlLHE & 2 3Hl & SX2el
100,000,000&+99. 10/100 99,100
03 Al =2.CHb| 900 90 0
OAlLIYR 2EEY 2 SXI22
100,000,000 *0.90/100 900
CEA Y LA HIZ2 F 93,045 91,060 1,985
101 el t| 58,945 56,960 1,985
M IIRINZ2Z2XsEs 58,945 56,960 1,985
O3td g - &g dUZA 2l 58,945
oQI29] 76,003 x2Z+22 x 12F 40,635
oFE4Y 76, 9602152 455+ 122 9,23
oMEOIT PHAY
6,080 x2G 262« 12& 3,7%
oABIEEE 48,000,000& 0. 11 5,280
201 L2 | 32,100 32,100
01 At 22|l 32,100 32,100
Oget=2| 11,900
ot E8S ME(E2, HILE S) 3,400
-8 80,0002 3574 2,800
- A& 2002 +3,0000H 600
okt £J HIIZ Meltl(YS58)
850,000 x 12+ A+103] 8,500
O=&Hl 4,800
oLFY U LANFIS OIS S S2
=4| 8,000& x5+ 10« 12& 4,800
ogxz 15,400
SAT NS HH| Bl YXHAHLL
LHEX, 23 2I2ixel Z8) 5,400
~wz2(0|L)
100,0002 *6A| 2H+12+33] 1,800
-8 = 100, 0002 *6Al 2t 12 *33] 1,800
— XIAIX 100, 0002 *6A| 2H+1 2 %33 1,800
PUHY =2 5,000,000& »23| 10,000
401 AIEHIZL 200 2,000 2,000 0




2A:

CE2AlL 2|t

Y CRISY PE(DESUSR/CR)
=Pl =2 Jdl & 22 (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
01 Al&HI 2,000 2,000 0
CEA SETS HA
1,000,000& *x23] 2,000
TZANEZS FU| 8,201,839 9,814,675 N 1,612,836
= 40,000
& 20,000
Al 8,141,839
KNotXiE & HY | 2 894,000 115,000 779,000
401 AIZHILS0HYI 894,000 115,000 779,000
01 Al&H| 837,614 114,568 773,046
OXeHRE & HY KX 22
50,000,0002%98.92/100 49,460
OAZEKIGHIE E4Z2AF
332,000,0002%99.28/100 329,610
OSHMEEY P2TAl
250,000,0002%99.28/100 248,200
QAL XIGIEE LI BE=Z2A1
200,000,0002%99.28/100 198,560
OB XIBHKE S 304 CCTVA XIZ AL
20,000,0002!%98.92/100 19,784
OSHMEHY HYUMHNEH A
22,000,000 & * 1A 22,000
Osti2HYE YUt EE 29
20,000,000 14! 20,000
03 AlE20HHI 6,386 432 5,954
OXtxE & HY sl
50,000,000& *1.08/100 540
ONZKICHRIE B2 AHO0.72%)
2,390,000 * 1A 2,390
OSFEMEHE B3 At
250,000,000 %0.72/100 1,800
O&LXIBIEE e BE=Z2A
200,000,000 %0.72/100 1,440
OB XIBHXE S 34 CCTVA XI B At
20,000,0002 %1.08/100 216
= A2l & EHH|A 140,000 210,000 70,000
401 A& HIZLEC0HH] 140,000 210,000 270,000
01 Al&H| 138,59%6 207,840 NG9, 244
O=Fg1 X2 & &
60,000,0002/%99.1/100 59,460
OHOIE |1 HEHIZA
50,000,0002%98.92/100 49,460
Octesl HHIZ2AH
30,000,0002%98.92/100 29,676
03 A& 20HYI 1,404 2,160 AT56
=0 SA2el € Hy|
60,000,000&/*0.9/100 540
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HH: C2NSY PE(DEUSFH/ER)
el SRAEE E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHDIE=1 HHISA
50,000,000& *1.08/100 540
Oct2su FHISA
30,000,000 +1.08/100 324
wE H DIt AES HUISA 5,537,839 3,969,675 1,568,164
201 2= 92,500 74,000 18,500
2 35244l 92,500 74,000 18,500
OAlZ &I Xl 92,500
otiA L AEEZHI R fE22] S
o 70,000,000 14! 70,000
olate SSHM HEAIS |A A2
=9 7,500,000 *39H 2= 22,500
308 AFAIEHMSOIE 3,440,339 2,512,675 867,664
07 AXEH2LFE= 3,440,339 2,572,675 867,664
O0===J10te M2 |2 AS2SE
fe= 3,440,339,000& x14] 3,440,339
401 Al HIZ 2018 2,005,000 1,323,000 682,000
01 Al&H| 2,001,778 1,320,120 681,658
O S TRALES SFFA(RI) 2
80,000,000& * 14 80,000
EHICIW JEAHIE =
80,000,000 * 14! 80,000
OsSZ 0t LN ZH
100,000,000 *14] 100,000
OSdW JENEH &9
30,000,000 * 14 30,000
OS&d1Jtl S M4 E+SA
15,000,000 *98.92/100 14,838
OHYD BABA
350,000,0002%99.28/100 347,480
OnY SN2 Y Hb|
50,000,000& *98.92/100 49,460
O=ttn S iy S+ug SEfE2
= 1,300,000,000& *14] 1,300,000
03 Al 20HHI 3,222 2,880 342
Os8Zu S ML 2=3At
15,000,000 *1.08/100 162
OsgD B4TA
350,000,000& *0.72/100 2,520
Oug =il & 3ol
50,000,000& +1.08/100 540
T2 HNAIEE SHIAMY 50,000 140,000 290,000
401 Al HIZL 201 50,000 140,000 290,000
01 Al&H| 49,460 138,650 89,190
O =2 WSS S ATHAE=S S
50,000,000& *98.92/100 49,460
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